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030414a (10 keV) / aluminum wire (0.3 mm)

030411i (15 keV) / nickel wire (0.025 mm)

030411g (15 keV) / co

pper wire (0.03 mm)

| ] | © |
I 3 I 3 ] I
| ~ | ® |
| | |
| | |
| | |
| | |
| K%} | N%) |
I ] I ] I
I e I 2 I
| e | e |
| | |
| | |
| | |
| | |
| | |
| | |
- | o | o 1
0 CT value (LAC), cm-1 90.263370 CT value (LAC), cm-1 803.696250 0 CT value (LAC), cm-1 845.947200
PPO = 61.237502 cm-1 / CWO0 = 3.185766 cm-1 PPO0 =371.906500 cm-1 / CWO0 = 201.712000 cm-1 PPO = 417.997440 cm-1 / CWO0 = 225.585920 cm-1
PP1 = 61.591476 cm-1/ CW1 = 3.185766 cm-1 PP1 = 384.513500 cm-1 / CW1 = 220.622500 cm-1 PP1 = 441.219520 cm-1/ CW1 = 265.395200 cm-1
PP2 =61.591476 cm-1/ CW2 = 3.185766 cm-1 PP2 =384.513500 cm-1/ CW2 = 220.622500 cm-1 PP2 = 444.536960 cm-1 / CW2 = 281.982400 cm-1
030414c (20 keV) / nickel wire (0.05 mm) 030414d (20 keV) / copper wire (0.03 mm)
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CT value (LAC), cm-1 365.471100 0 CT value (LAC), cm-1 386.016450
PPO = 235.048080 cm-1 / CWO = 81.693540 cm-1 PPO = 243.720190 cm-1 / CWO = 160.461740 cm-1
PP1 = 278.044680 cm-1 / CW1 = 70.227780 cm-1 PP1 = 267.940830 cm-1 / CW1 = 190.737540 cm-1
PP2 = 278.044680 cm-1 / CW2 = 51.595920 cm-1 PP2 = 267.940830 cm-1/ CW2 = 204.361650 cm-1
030411h (15 keV) / titanium wire (0.2 mm) 030411j (25 keV) / nickel wire (0.025 mm)
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0 CT value (LAC), cm-1 207.633495 CT value (LAC), cm-1 195.936135
PPO = 133.536836 cm-1 / CWO = 10.585237 cm-1 PPO = 100.657387 cm-1 / CWO = 56.859898 cm-1
PP1 = 135.165334 cm-1/ CW1 = 12.213735 cm-1 PP1 = 137.539483 cm-1 / CW1 = 106.036026 cm-1
PP2 = 135.165334 cm-1/ CW2 = 13.027984 cm-1 PP2 =137.539483 cm-1/ CW2 = 114.488173 cm-1
030414b (20 keV) / titanium wire (0.3 mm) 030412b (25 keV) / nickel wire (0.05 mm) 030414e (20 keV) / palladium wire (0.05 mm)
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0 CT value (LAC), cm-1 91.747725 CT value (LAC), cm-1 195.936135 0 CT value (LAC), cm-1 261.145500
PPO = 65.122895 cm-1 / CWO0 = 3.238155 cm-1 PPO = 129.087336 cm-1 / CWO = 30.735080 cm-1 PPO = 168.976500 cm-1 / CWO = 36.867600 cm-1
PP1 = 65.122895 cm-1 / CW1 = 3.238155 cm-1 PP1 = 147.528384 cm-1/ CW1 .271834 cm-1 PP1 = 199.699500 cm-1/ CW1 = 49.156800 cm-1
PP2 = 65.122895 cm-1/ CW2 = 3.238155 cm-1 PP2 = 136.002729 cm-1/ CW2 = 9.220524 cm-1 PP2 = 198.675400 cm-1/ CW2 = 38.915800 cm-1
030412c (25 keV) / nickel wire (0.1 mm) 030411f (15 keV) / silver wire (0.05 mm)
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CT value (LAC), cm-1 195.936135 0 CT value (LAC), cm-1 535.232250

PPO =138.307860 cm-1 / CWO0 = 4.610262 cm-1
PP1 =138.307860 cm-1/ CW1 = 3.841885 cm-1
PP2 =138.307860 cm-1/ CW2 = 3.841885 cm-1

PP1 =361.019400 cm-1/CW1 = 12.593

PPO = 384.107850 cm-1 / CWO = 167.916000 cm-1
700 cm-1

PP2 =363.118350 cm-1/ CW2 = 10.494750 cm-1



